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1. ©% e A Shrew - : 1x5=5

Select the correct answers :

@ nb afFs T w5 TR G A
I P SR FHoT Fo7 T XA
The error d.f. for a completely
randomized design with n observations
and t treatments is

(i) n-t
(d@) (n-1(t-1)
(iii) nt-1
(iv) n?(t-1)
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(b) TE REET P

Local control is a device to maintain

() ASTRARR TS FATSORS! I FCI
homogeneity among blocks

(i) 493 PR oo melme 791 3@
homogeneity within blocks

(i) () O (i) TABR
Both (i) and (ii)

(iv) 8°RA o1 T
None of the above

(0 RIS vo AF AN, ____ TR
L R e xR |

Randomized block design is based on
the principles of ’

() TR
ranc_lgmizgtion |
(i) SRS
- replication
(i) =

local control

(iv) 87 IR
All of the above
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(d) s 3o SRS -
In Latin square design |

(i) TR RN = 1A HF ST IR
No. of treatments = No. of rows and
qolumns ‘

Lo

(ii) TOUBRA TR > A HF TSI IR
No. of treatments > No. of rows and
. columns Ceoa ‘

(ifi) TR TR < 1R SF TS 3RM
No. of treatments < No. of rows and
columns - '

(iv) 87T O1S T
Noner.of the above : .

(@) 23-CumAm *RAFS P TR X7
In 23-factorial experiment, the total
nugber.of, treatment combinations, are

Tate ey ’(‘)5.2’.6 [T IR T EAE LR e A —n e
MR R Y
(i) 8
(i) 9 e gt

“(iv) “8oqq 18 =
None of the abové™ """
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2. oo o oaa BeR R 0 T AU faxs=10

AT I

Answer the followmg queshons :

'u‘ el 1 AR

k(a) amqﬁrm‘tmﬁ{e?ﬁ?l

What is meant by analysxS' of variance?

v E BTRY R CTIR ¢ T T SN e,

E\J.’(b)i:'-ﬂ%‘ %'\W tﬁ %W’EW qﬁ‘ W %
ﬂi’mwﬁzwm a0 &R Rese et
(R N ey 1(;4.‘ “

: __,,Consu"i.lct an analysxs of vanance table
for a randomized block g_:lesxgn with ¢
treatments and r blocks.

(o) iR curmer g et R gy

What is meant by ‘mean sum of
squares? B :

[ -
HICRTE: SRR e & BN FE g To 4 § I LW SRRk WO

erd.rn ( 1 EYIe )m”' i m WW|

Define treatment and éxpenmental
unit.

S

(o) e o B q@me

What do you r*%-f=under5t8ﬁd by
confounding?; .

YRR RIS N ¢ 4%
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3. RorPl afiIa R 3 = wF TR e
Roma wift At =11 10

Describe the procedure of tWo-Way
classification and construct its analysis of
variance table.

4. -7 RS SYRIFR oPRY RewR cvas

ASTPTRI oo 35 SR ey 11 4
Obtain the least squares estimates of the
effects in case of analysis of variance of
one-way classification.

5. 22-afSum HR TU dOR W WERRT. ger
QEe Py IR, 3o T W GR SR
r RIFR O I H, (58 B[R <01 “fig
Reasa a1 7

Describe how you would determine the main
effects and interaction effects of a 22.
experiment. If this experiment is replicated
r times, then give a complete analysis of this
experiment.

6. @ 3o SR R o T W9 3
SRFEAR 7S SR T 1 AR kx k @l s
wﬁﬁaﬂﬁmmqﬁmqa#mwnmqﬁm
oIF RIS & R 2+7+3=19
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When is a Latin square design used? Explain
the layout of this design and describe
the analysis of variance for a kxk Latin

square design. What are its advantages and
disadvantages?

w1/ Or

WRIIFS 1o SIE e B 3o 2 Wedipe
44T SRITAR T o Rewd 3 391 1 TR

R o SRER R &2 2+7+3=12

What is meant by randomized block design
(RBD)? Describe the layout and analysis
of an RBD. What are its advantages and
disadvantages?

* %k %k
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